Installation
Manual

VW T-ROC 5DR
VW-TROC-5-A

Fixing Clips

CL-MO5 x 4

CL-M12x 2

Side Shades %

CL-M14 x 1

0
=

CL-TO1x 1

Tailgate Shades

Y
www.carshades.com | info@carshades.com w

ssssss



Installation

VW T-ROC 5DR
VW-TROC-5-A b .
e

Side Shades CL-MO5 x 4 CL-TO1x 1

STEP 1 STEP 2

Peel back the rubber trim using the CL-TO1 tool

www.carshades.com | info@carshades.com a2



Installation

VW T-ROC 5DR
VW-TROC-5-A

Side Shade Installation

S H A D E S

STEP 10

www.carshades.com | info@carshades.com @3



Installation [ Components Needed |

VW T-ROC 5DR
VW-TROC-5-A ’ ’

Tailgate Shades CL-M12x 2 CL-M14 x 1
Tailgate Shade Installation
STEP 1

www.carshades.com | info@carshades.com o4



Installation

VW T-ROC 5DR
VW-TROC-5-A

Tailgate Shade Installation

STEP 7

STEP 11

”
www.carshades.com | info@carshades.com w 5

ssssss



